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1 | Today is ( /-7 ) and cold. You better put on your ( ﬁ / @TB ).

2 [A:Isit( cloudy / windy )? B: No, it’s not. It's ( sunny / rainy ).
3 | Q: Where's my red ( a}u / )  A:It's in your ( m / ).
4 | Q: How much are this T-shirt and that ( cap / hat )? A: They're ( 45 / 54 ) dollars.
= ~Listen & Write: e~ % > Appd HAZE » gpd 5L - B RIFE[EFT 2 BAEFRE 1~5e (145 £ 154)
Clothes \“ (A) blue
| (B) red
Traits (C) yellow
Order ' & (D) green
Color ggé (E) pink
Price # &
= ~Listen & Check:#p # 35> 1R /mf X o (54245 £ 64)
2 ~ Listen & Circle:fF s+ > 7449 HE 5 - B4 P EFEHE % o (5414 > £ 64)
1 |Themanwitha[ cap / cape ]hasa[ tap / tape |
2 |Niceto[ met / meet ]Jyou.I'm[ ten / teen ] yearsold.
3 |It's[ time / Tim ]Jto[ rid / ride ] a bike.
7 ~Listen & Circle: g% * 3 ¥ 3 » Bl i mmenf & o (54514 > £ 84)
1 your my 2 here there 3 how's what’s 4 weather where
5 can can’t 6 this that 7 Let’s It's 8 again right

= ~ Listen & Number: i+ m&E ¥:5 > 2B Y+ TiEpE » 1~50 (5514 5 £ 54)
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~ Read & Choose: & 3 & # 4] R|% » 7 ) FERRRBY S HF A 03 o (H32 4 £ 14 4)

How much are the T-shirt?
@ It's 75 dollars. . l '
11 ) @ It's 99 dollars. 20 )

3 It’s 100 dollars. 100 |

Joy: How's the weather in Penghu?

May: It's rainy here.

@ ///// // //// // @
o 28

Anna: Today is . Do you want to build a snowman?
Elsa: OK, let me put on my cap first.

3| ( ) |Anna:s this cap? 41( )
Elsa: Yes, it's my cap.

@ sunny, my @ snowy, your 3 rainy, Anna’s

May: I can’t find my dress. Please give me a

Tom: Sure! What is it?

May: It's pink.

@ pen, time @ hug, number ® hand, color

A: How much is the ?
B: It's dollars.

50 ( ) @ T-shirt, five 5 6
(2 dress, fifty &0

3 jacket, fifteen

@ It has many different(z k=) colors.
@ It has long sleeve(i» +) and short sleeve.
(3 Boys and girls can wear it.

What is it? It's a

@ There are no clouds in the sky(= %).
@ You need to wear(7 ) a cap.
7 3 You can go swimming(z #x).

How’s the weather? It's —

= ~Read & Write Tor F: 5 B ~ it p Z & ¥ 24 $Hh8 T #05

(FA24 £ 124)

1.( ) Toby and Kevin go biking on a sunny day. (Unit 1) 4.( ) It's rainy today.
2.( ) Toby can ride a bike at first(#4). (Unit 1) 5.( ) Ting wears a T-shirt today.
3.( ) Fifiis at Tina’s home. (Unit 2) 6.( ) I have a skirt in my closet(# #).

= ~Read & Choose: B Bz » (3@~ Bl A ® I o (5324 > £ 104)

Al Q1~Q2 Today is windy. What can you wear?
wether 1 @ I can wear a dress.
) @ I can wear a jacket.
AR 3 I can wear a skirt.
_ I wear a T-shirt today. How's the weather?
outfit 5 @ It's cloudy.
=2 ) @ It's rainy.
(3 It's sunny.
Q3~Q5
3 |( )|® Christmas @ Mother’s Day (& birthday
What are 2, 6, and 107
4 () @ a T-shirt, a cap, and jeans

(@ a watch, a dress, and a hat
(® a cap, a dress, and a jacket

Dear Tina & Jack:
It’s so happy that you’re going to my __ Q3  party. Emma
can wear 3 and 7. Jack can wear 2, 6, and 10. It will be sunny and | 5 | (

hot. Don’t wear 5. Just relex and have fun!
Cheers, Kevin Apr, 26, 2017

Which one is true?

@ Tina writes the invitation(g -+ ).
@ They can wear 5 to the party.
(3 It's sunny on Apr, 26.

z ~Read & Write:2 Bplsk » R4 pd v - BN FaTFZNEBE - (03
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Q: How’s the weather today?




